202 54K BhbE#RY: A¥UBRAEE [—fofik] —RARARR (1HH) 56

A B R H

X
S
i
i

S

<FERIEHH >
W H
/100

X MBI, TTHEEMR
ALREW,

%1

il 1

il 2

2 B

fil 1

[ 2

(5 =2 -49)(x?+2)

=(x+2)(x —2)(x*> +2)

BD:DC=AB: AC=8:6=4"_:

4 4
BDZlOX; = —

WCRRALRIWV, £72, REETOHBERESLI 77, R L, LT

(x+2)(x —2)(x* +2)

v

D'=(-a)*-1-(-a*+3a+1)
=2a*-3a—-1>0

3—V17  3+4V17

a< ,
4 4

<a

40
BD= —_
7
3—v17 3 17

a <37 3T

4 7 4




%34

R 1
AOABIZEBWWT ZAOB=360°/8=45°
/ZOBA=/Z0BC=67. 5°
/ABC=135° ik\SF;221mBT =2
/ABC= 135° S, = V2
i 2
S,=[JACEG+AABCX4 XORDAHILNTXA,
AACOIZHOPWVT AO=CO=a . ZAOC=90° kY AC=+2a
LitioT,  S.=(VZa) +VIX 4 =242 + 42
S,= 2a% + 42
g3
AC=+v2a . AD?=AE?—-DE?=Qa)?—2"? S AD=2Va2 -1
20 2R SsinZ ACD =20 et Varol
sinZ ACD 2R 2a a
) a?-1
sin/ACD= -
w4 R
91
+ DAL — DAL
9 8 7 6 5 4 3 2 1 0 9®@®Y
8 7 6 5 4 3 2 1 0 8 Y
7 6 5 4 3 2 1 0 7Y
1 0 1380
1+2+3++ -+ ++9=455EY 45 (&
2
—J5 it 5
1 3 4 5 6 7 8 9 10 8 iH
2 5 6 7 8 9 10 61EY
3 7 8 9 10 458V
4 9 10 2@V
5 L
8+6+4+2=205EY
20 _ 20 _ 4 4
10C 2 45 9 9




